= AH O
M = 0l &8 AF 2 ZH A A
20129 20lA LS 2stdlsd ~ 2ol
2N 250
M 54 250=0 3MH 25
o IS (e
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
2350z 61,575,602 68,457,279 6,881,677
= 24,058,980
z 9,455,000
p) 3,112,000
= 3,310,000
< 21,639,622
sSY 2siol=2l Z¥HE 23 20,369,550 25,836,709 Nb,467,159
= 2,318,318
z 5,855,000
J| 1,517,000
2 160,000
< 10,519,232
Xer25are 2,996,194 2,904,300 91,894
= 500,000
< 2,496,194
NLE2S3 AIEESESIA 392,250 292,050 100,200
307 212+01 A 10,000 10,000 0
02 DIt AR 10,000 10,000 0
ORI MNIRAAE NS 10,000
308 XXM SOl E 382,250 282,050 100,200
01 X HHMBAEXZ 382,250 282,050 100,200
OXNLESSIAANSESAA 165,000
O3 B2AIHAISH 200,000, 000! *25% 50,000
OXNLUSSRASFEDI S I AL X 47,250
OXY2stasAY & 120,000
B2 EE ALY 240,000 1,185,000 945,000
306 E¢H= 240,000 1,150,000 910,000
0103 240,000 1,150,000 910,000
OJI&|W ol2stxx 240,000
S30=AMY 29 985,950 137,250 848,700
=2 500,000
== 485,950
201 LEHRAHH| 14,000 65,300 51,300
01 A2 22| 14,000 44,300 230,300
OoPleRstesaoed 8,000
OFMTI2ALE 29 6,000
202 044l 3,000 3,000 0
01 2LHNHI 3,000 3,000 0
OIS S e 3,000
203 & L =Zd| 38,950 38,950 0
03 Al =R P2 =KIY| 38,950 38,950 0
O HzsrELLREX 23,750
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Ao BB S2(B1H) - MISAY - BES AroH Sl e =2
ORsl=2ZHSLRFA 11,400
Oz RF=d 3,800
307 2120 & 20,000 30,000 210,000
02 QItFAE X 20,000 30,000 A 10,000
OZaLE=E SEIAANZEULE 20,000
308 AtXIEHMI S 01 ™ 910,000 0 910,000
= 500,000
= 410,000
01 IXNHHBAEES 910,000 0 910,000
020124 232ld A N 710,000
= 500,000
= 210,000
OoRe(e=)2s&010 84 200,000
2AAMNESE 23| , 377,994 1,290,000 87,994
306 32 , 377,994 1,290,000 87,994
01 &9 3 , 377,994 1,290,000 87,994
OSEIMEISHARAZE , 377,994
= 9% M ,900,254 9,733,269 166,985
= 819,050
= 166,000
| ,517,000
= 160,000
= ,238,204
UAZ0F l=2ZAL XIJAS 832,100 843,554 A11,454
= 416,050
L= 416,050
307 SI2H0| & 832,100 843,554 211,454
= 416,050
= 416,050
02 QIHFAE X 832,100 843,554 A11,454
O=24=20F Ol=ZA XI& 832,100
= 416,050
& 416,050
SSAHEINALY 104,000 104,000 0
| 52,000
= 52,000
307 SI2H0| & 104,000 104,000 0
| 52,000
L= 52,000
02 gl2tH a8 104,000 104,000 0
OAEEIZ At 104,000
Il 52,000
= 52,000
=UEM==MEIL 68,000 60,000 8,000




M Z3t0=n
M Y =30z 3 et
Sel XY= 9 Mo (etel: =3
SA-EFH - SA(SAH) - MREAY - BES Off &F OH gl,liafg BlusZ
= 8,000
= 60,000
308 AtXISHMSO0I A 68,000 60,000 8,000
= 8,000
S 60,000
01 HIXHHBLEEXS 68,000 60,000 8,000
OMI533] et=2I=0==M &t 50,000
= 5,000
S 45,000
OHM192] d=HAHEUX0=H 18,000
= 3,000
S 15,000
N2t zsnSHEHAY 300,000 300,000 0
= 150,000
= 150,000
307 2I2tol & 300,000 300,000 0
= 150,000
< 150,000
02 B LB X 300,000 300,000 0
O=EEsl=nsAIAHEH K& 300,000
= 150,000
= 150,000
=23 l=dSAY 80,000 30,000 50,000
308 AtXI&MISO0I A 30,000 30,000 0
01 AXEHEMELS 30,000 30,000 0
O3 F==HM0Ol=x 30,000
403 XX HHMS =0l & 50,000 0 50,000
01 AXSHHX2E X 50,000 0 50,000
OuU=SodA N2+ 50,000
A2 23l S A 245,000 245,000 0
= 245,000
308 AKX HHMSO0IA 245,000 245,000 0
= 245,000
01 HIXHHBLEEXS 245,000 245,000 0
OAtg 23tz = 245,000
= 245,000
S A=A 166,000 100,000 66,000
= 166,000
308 XX EHMSO0IE 166,000 100,000 66,000
= 166,000
01 AXESHHIMEEXS 166,000 100,000 66,000
Os3Z2Xdil=l g 166,000
& 166,000
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SN -EHH . (B) - MPAY - BE2 O] Ak 4 Sl ko HRE2
X250l =2 S X (Pool) 473,000 643,000 A 170,000
307 212tol ™ 395,000 395,000 0
04 QIZHHALE X 395,000 395,000 0
OXYRSHEE SN 395,000
308 AtXISMS 0l & 78,000 248,000 A 170,000
01 HXHHBLEEXS 78,000 248,000 A 170,000
O29X% ACSSK 18,000
OARSNE HEHSX 60,000
ROt SEsaY 208,000 208,000 0
&2 160,000
= 48,000
308 XX SHHMSOIA 208,000 208,000 0
2 160,000
= 48,000
01 MXISHBALSES 208,000 208,000 0
OXROI==sE = 208,000
= 160,000
= 48,000
SEl=" 29 5,343,054 5,042,715 300,339
308 XXM SO0IA 5,343,054 5,042,715 300,339
01 IXHHMBAELS 5,343,054 5,042,715 300,339
OsgIARBAG 2Y 1,456,740
Osgugsdt 249 2,463,361
Osgd=o4H 23 1,109,338
OsgeFEzA 29 313,615
KNS Z30 = AR 30,000 30,000 0
308 XX SHHMSOIA 30,000 30,000 0
01 RASHENSES 30,000 30,000 0
O3 Eaxdo=H 6,000
OF® Z2FANS 18,000
OF24 H&H 3,000
023 =20&H 3,000
NG 2sto=EdE3s X 174,000 234,000 A60,000
308 AtXI &M SO0 & 174,000 234,000 A 60,000
01 HXHHBLEXS 174,000 234,000 260,000
OZZF wEa BAg Y& - HD3 60,000
OAMHAI2 =0ICHS A 60,000
OFAE2H2H 53] 54,000
ANSEEE ALY 500,000 655,000 A 155,000
] 250,000
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2A: S30l=1
dH: Y 2o0=2 Z™HE 23
ol 2BAA BHE Y 2 ECR-ED
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
OAgest22 2 s 89 XN 53,000
308 KX S SOl A 75,000 75,000 0
01 AXIEMBIAEEZ 75,000 75,000 0
og=Ez ¢ 0=z 29 243 K& 75,000
403 XXM SA20| A 125,000 75,000 50,000
01 AXI SN A=2E X 125,000 75,000 50,000
Oz 2 0l B0 EEAIE K& 75,000
O220Ix8Z2 AIEMES 50,000
SF, 20 GA2SEZA =4 3,240,000 3,600,000 360,000
= 3,240,000
403 XAtXI S S K201 A 3,240,000 3,600,000 360,000
& 3,240,000
01 AXHMAN2EE X 3,240,000 3,600,000 360,000
O22F, 20 SASSEA =4 3,240,000
= 3,240,000
HSAIE 43 At 200,000 0 200,000
= 200,000
403 XX S S K20 200,000 0 200,000
= 200,000
01 AXI SN A=22 X 200,000 0 200,000
O=4 HEAE 24HFAY 200,000
= 200,000
SStAIE QIXAIE A EX 23 (BTL) 1,819,000 1,742,000 77,000
& 1,819,000
308 AtXI SISOl A 1,819,000 0 1,819,000
= 1,819,000
01 IXIEMBAEEZ 1,819,000 0 1,819,000
OFOEE =32 AXAIYE HF2XN=2 401,000
= 401,000
OHUA=EE(FH)T A2 IXAIYE HBEXNZ22 253,000
= 253,000
OYNINRIIIAERME QIXAE AE2EX=2 808,000
= 808,000
OHE=E=a2 AXAIYE F2X=2 357,000
= 357,000
WEASZAl SSAIE HE 70,000 0 70,000
401 AIEHIZL 20| 70,000 0 70,000
01 Al&H| 70,000 0 70,000
OUZEATAl SSAIE HE BFYETAF Z D)
=HE 54 70,000
=R MAHE B MS 40,558,572 42,019,150 AN 1,460,578
= 21,740,662
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SNBSS - MBAY - BES 0 & 24 e {imE=Eh
& 3,600,000
Il 1,595,000
= 3,150,000
= 10,472,910
SE2}IM BEE R ES5 777,360 843,750 266,390
SHEIIM Es0/8 2= 506,000 656,000 A 150,000
308 XXM SO0IA 506,000 506,000 0
01 IXNHHBESEXZ 506,000 506,000 0
ORI dsXES(ERN, =) 402,000
ORE=23M BHEMN s X&E
208,000,000 *50% 104,000
XNA2sH23 M) o= e 66,000 66,000 0
308 XXM SO0IA 66,000 66,000 0
01 IXNHHBELEXS 66,000 66,000 0
OXSAZstilz M= 66,000
SEHEIIM REEE 205,360 121,750 83,610
307 212+01 A 45,360 46,750 A1,390
04 QIZ2HHALE X 45,360 46,750 A 1,390
ORd==M 2&s & N& 45,360
308 XX SHHMSOIA 160,000 75,000 85,000
01 HXHHBAEEZ 160,000 75,000 85,000
OZ&IIXIAl ECteld] A XA 80,000
Ogate==0l XA 33,333, 330& »30% 10,000
Osd FE2M HSSHEA 70,000
NE=2M 2&E2a 35,997,550 37,707,900 A 1,710,350
= 21,672,500
= 1,800,000
Il 280,000
= 3,150,000
< 9,095,050
SSAMEE=FH 3,000,000 1,065,000 1,935,000
= 2,000,000
= 1,000,000
403 XXISMS =01 3,000,000 1,065,000 1,935,000
= 2,000,000
= 1,000,000
01 AtXIEHH X2 22 3,000,000 1,065,000 1,935,000
OHSAEE+=ZH 1,800,000
= 1,200,000
S 600,000
OHSAE STHAIAE 2= 1,200,000
= 800,000
= 400,000
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SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
NS HEAE B4 214,000 339,000 125,000

201 L2 Y| 4,000 4,000 0
01 ALR eIt 4,000 4,000 0
OXSAEBZESRS Ba4Y 4,000
403 XX EHFI S K2 0| & 210,000 335,000 £125,000
01 XFXISHRIXHZ 2 & 210,000 335,000 A125,000
ONSHEAIE &4H4|(POOL) 210,000
2OINY L SAet2rel X2 20,000 20,000 0
=2 20,000
308 X+XIEHHISOI & 20,000 20,000 0
= 20,000
01 ISP ABES 20,000 20,000 0
O2t2atl XN 2R 22 20,000
= 20,000
N 23T 242l (PooL) 1,405,000 950,000 455,000
403 X EHHI S K2 0| & 1,405,000 950,000 455,000
01 XX S X2 2 % 1,405,000 950,000 455,000
OXIZ 23T 24 F 8l (POOL) 1,405,000
E52NE2 Fyl 365,000 300,000 65,000
403 XX EHFI S K2 0| & 365,000 300,000 65,000
01 XHXISHRIXHZ 2 % 365,000 300,000 65,000
OB&ZAN&ES H| 365,000
NEXZESS 24| 4,095,000 3,900,000 195,000
= 3,150,000
= 945,000
403 KX EHHI S K20l & 4,095,000 3,900,000 195,000
= 3,150,000
= 945,000
01 XHXISHRIXHZ 2 & 4,095,000 3,900,000 195,000
ONEXNESH S+FY| 4,095,000
= 3,150,000
= 945,000
SO QB BAFY ¥ SREXNT 22FY| 38,000 38,000 0
403 KX I S K2 0| & 38,000 38,000 0
01 XX SHRIXH= 2 & 38,000 38,000 0
OZXNHSEW HUEES L CRENT A 38,000
SAMRE 22l X 24,315,000 28, 175,000 3,860,000
= 19,600,000
| 280,000
= 4,435,000
307 212H0| & 400,000 0 400,000
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St E=ae
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SA-E . S(E) - MEAY - BES 0 & 24 i SImE=ET
Il 280,000
= 120,000
02 QItH A2 X 400,000 0 400,000
O=H 3389 2ot & Al2elgsAtd 400,000
Il 280,000
S 120,000
403 KX &M S AH=01 & 23,915,000 28,175,000 24,260,000
= 19,600,000
= 4,315,000
01 AIXSHHMA2E X 23,915,000 28,175,000 4,260,000
OYN=23td 23t FH| 2,550,000
= 2,100,000
= 450,000
O=2IJINE &3 E+=FHl 15,300,000
= 12,600,000
= 2,700,000
OZdgqAaz 28 15,000
O2INY SESa 223 525,000
= 350,000
= 175,000
ODEEE ¢ SHA(BF.20) 5,525,000
= 4,550,000
S 975,000
ot ZIH01gSldl At 63,750 62,900 850
= 52,500
= 11,250
403 At XI SHHEXH=01 & 63,750 62,900 850
= 52,500
= 11,250
01 AtXIEH X2 2 X 63,750 62,900 850
0D ZIH0IYATIAI 63,750
= 52,500
S 11,250
S MAES & HXNEAN = 28,800 0 28,800
201 gEt=24Ed| 28,800 0 28,800
01 AtR2tel 28,800 0 28,800
O2s &z & XXZA=E 28,800
SXNE2EN o8 dEIIE &d 108,000 108,000 0
308 XX SHHMSOIA 108,000 108,000 0
01 AXHHBLEES 108,000 108,000 0
OSNHSST SHAHBFBIIE(0H) &Y
360,000,000 *30% 108,000
EMOtsxd 2,340,000 2,730,000 A 390,000
& 1,800,000
< 540,000




SN 230ED
Hu: 2sigMol AN 2E ®s
ool NFLH 2= (25 &2
SH-EH . C(BH) - NRAY - BES O AF o8 gggi; bRz
403 KX SRS XH 0l & 2,340,000 2,730,000 390,000
= 1,800,000
= 540,000
01 KX EHRIXH2 2 & 2,340,000 2,730,000 390,000
OZMOtE x4 2,340,000
= 1,800,000
= 540,000
SaMBERL ARFHY| 5,000 5,000 0
202 04t 5,000 5,000 0
01 2LH0I b 5,000 5,000 0
O23M Y % a8y S Uy =& 5,000
SsgNo Ny L B8 1,868, 162 1,843,000 25, 162
= 68, 162
3 1,800,000
EUDCARs dag) AYXE 750,000 500,000 250,000
2 750,000
403 X+ X SRS KH 0] & 750,000 500,000 250,000
3 750,000
01 KX EHRIXH2 2 % 750,000 500,000 250,000
OE41T ANSIBE AL 750,000
3 750,000
SHRE BTG X 1,050,000 1,278,000 £228,000
3 1,050,000
403 XHXIEHAI S X2 0] & 1,050,000 1,178,000 £128,000
2 1,050,000
01 REXI SRR 2 & 1,050,000 1,178,000 £128,000
OSBNE HSAAN OIZEH X2 500,000
=l 500,000
OSIESH |X I 250,000
=l 250,000
O EX =018+ 2 300,000
3 300,000
SIS 24MY N 55,000 55,000 0
= 55,000
308 X+XI €+ HI SO0l & 55,000 55,000 0
= 55,000
01 MHASH B LB ES 55,000 55,000 0
OSSMEE 24AY 55,000
= 55,000
SIHRUDS OS3D 2Y 10,000 10,000 0
= 10,000
308 XHXIEHHI SO ® 10,000 10,000 0
= 0,000
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Ha: 25 oMo HHR BE Mo
& 23eE FHIHY ¥ &= (428
S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
- (=] - T - = S = o = 0:”/&,% Wsa
01 MIXIEHEBALNEEXS 10,000 10,000 0
O23IMuE o5stn X3 10,000
= 10,000
MIIAHIAZ0F 2LZ22FA 1A 3,162 0 3,162
= 3,162
308 AXSHHSOIA 3,162 0 3,162
= 3,162
01 AIXIEHEAMEEXRZS 3,162 0 3,162
OMIINMHBIAZOF 2UZ2FRF 2124d] 3,162
= 3,162
23 HTHAIE 2= 1,835,500 1,624,500 211,000
| 1,315,000
7 = 520,500
=St EE 22| AtY 316,000 316,000 0
| 280,000
= 36,000
308 AMXSHHSOIA 316,000 316,000 0
J| 280,000
°c 36,000
01 MIXIEHEANEEXS 316,000 316,000 0
O3 MELE 22| ALY 316,000
J| 280,000
= 36,000
SRSEZIM ZAICSE BHXI A 390,000 390,000 0
| 300,000
= 90,000
308 AXSHHSOIA 390,000 390,000 0
J| 300,000
°c 90,000
01 MIXIEHEAMNEEXZS 390,000 390,000 0
OZER=EXEX23HM 2A10E BE X 390,000
J| 300,000
c 90,000
SREXZIIMEMAIE RS XS 632,000 520,000 112,000
| 560,000
= 72,000
403 AN XSRS A201 ™ 632,000 520,000 112,000
| 560,000
°c 72,000
01 AXEHA2EX 632,000 520,000 112,000
OZREXZ2SM BMHAIER=E 632,000
J| 560,000
c 72,000
SXNE2IM SHAE 2EIA 300,000 284,000 16,000
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Hal: 2aRa0 AN BE HS
ool 2T YWAL S (e
_ _ _ Muo
SA-EHB . CA(ENH) - HEAY - BE2 O A+ 24 il i~ o Rz
403 KX EHHI S K20 & 300,000 284,000 16,000
01 XX SHH K= 2% 300,000 284,000 16,000
OSNHL LWAL 75 300,000
ZQS T2 st 8% X 197,500 39,500 158,000
p 175,000
= 22,500
308 XHXI €I S0 & 197,500 39,500 158,000
p 175,000
= 22,500
01 XIS B A2 ES 197,500 39,500 158,000
OZRSXZ2s Yat2el 89 N2 ¢ oI
N& STz 197,500
g 175,000
= 22,500
HAS A STHER 80,000 0 80,000
WHRE HMHRL SHEX 80,000 0 80,000
306 2013 80,000 0 80,000
NEEE 80,000 0 80,000
OBMBHAARL SH N & 22 80,000
WSS (250&D) 550,000 500,000 50,000
AN R 550,000 500,000 50,000
SN ERESIEESE 550,000 500,000 50,000
7020138 E2 550,000 500,000 50,000
01J128&2 550,000 500,000 50,000
LT ERSESIERE= 550,000
HF2AAH(2st0= D) 97,480 101,420 A3,940
p[EEL] 97,480 101,420 A3,940
S50z 2P| 97,480 101,420 A3,940
201 L2 Y| 44,000 46,000 A2,000
01 ALR eIt 44,000 46,000 2,000
SEET LS 44,000
202 01t 42,680 44,620 A1,940
01 2L 01 bl 42,680 44,620 A1,940
SEET =R 42,680
203 & RET| 10,800 10,800 0
01 )| Z2Y AR =T Y| 6,600 6,600 0
o= 6,600
04 BA G ALETY| 4,200 4,200 0
OS50l &t 4,200
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